[FR254EE AFLRER—E]

No. FER AFLBITH THEA% etk (Bitk) | BALER (Bitk) WFLEE A ZER|  ALGIE

1 VISEE H25.4. 16| T /K8 236 A 5 E 7 £ at 10,292,000 9,600,000 | # s s s 6 HEES SN
2 TR H25.4.16 |84 BRSO J8 w8 Fefiak 7t 365 2Rt 2,190,000 1,800,000 |#KBaR e RIS 3 = 6 faa i AAL
3 R Hos.4.16(5 7 o SRR R 3,950,000 1,600,000 (FH F 73 6 | mamei
4 Bt B AR H25.4. 16| AT — R T-Bh S 35t R EHR EH & R 1,588,000 1,016,000 7 3 AN 3 RS TN
5 Bt B AR H25.4. 16 | ART — R TR 5B ZE 1,128,000 1,100,000 v a—=#E—vil B E2s| 3 RS e N
6 Bt B AR H25.4. 16| ART— K 7B ¥ £ B 2t 493,000 440,000|vvm—=k—vil HELE[ 3 RS e N
7 VIS H25.4. 24| AMIHZ D1 TH 1,370,000 1,060,000 [#ifi 78 - AHR 6 EES S INI]
8 VISEE H25.4.24| B Lt N 47 T 7 1% 2,000,000 2,000,000|(#R ~ %" 4 HEES SN
9 VSRS H25.5. 17|mK A& ER LR 5,470,000 4,970,000 [i FAms= 4050 1B St 6 faapt g AL
10 KIEFR H25.5.17 7% HiE ks £t 1,350,000 870,000 | (bR H - 6 EES T YN
11 [FH3<0EHR]  H25.5.17 /M2 72 (L NP A 5 1Mk & T3 3,550,000 2,980,000 i ¥ A 6 EES S INI]
12 |FH<KVENHFR|  H25.5.17 [BE T Al P S T2 1,500,000 930,000 | R A A HH 6 RS e N
13 |EHOKVEg IR H25.5. 17| 1Lk o> B AR K/ N2 - T # AN 6 EES T YN
14 [FH5KVEHRR|  H25.5. 17 [BUARTEHILAT AR H EH 25t 7,200,000 7,180,000 |5 1 AK A 7B B A E 5 fad e AL
15 GIRET H25.5. 17 | 0T 52 B A 75 257t 4,800,000 4,500,000/ <22 S 5 HEES SN
16 T R H25.5.17 |#AE Fp i A FIAL - Al 3 1,447,000 1,195,600 3T 27 A 6 EES SN
17 KIEFR H25.6. 19 [4n E s 1l K A A s e T 4,700,000 4,600,000 | () PUFNE i L3 6 EES T YN
18 [EH3<VEfHFR| H25.6.19|BILAT SiE Lo 2,680,000 639,000z~ BRI 3 R4 BEE AL
19 [FH3<0E Rl H25.6.19[HT3E 1 — 30 S #shEEkE T 9 7,740,000 5,180,000 | (R A AT HHH 6 RS e N
20 |EHSVEA R H25.6.19| HAF SR M SRS TF 2,460,000 2,080,000 | (R4 M +- A 6 EES SN
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21 [EHOKVEHAR|  H25.6.19] Limkod BLIEE 50N ACH N2 B R T AN 4 fad pt g AL
22 |EHOKVESHRE|  H25.6. 19[HT 8 Bhadk K S Qe TH3H R E % 4,520,000 3,700,000\ EREEMGE L] 5 EES T YN
23 BT S H25.6.28 [ 8L AR e S Rk i T3 A i 10 RS T N
24 R H25.6.28 |k et Ry as B a s 17,880,000 17,697,600 [xecsresmma—ssmmizs [ 6 HEA B AL
25 [EHOKVESHIR]  H25.6.28|W\\TV\D RS LT TR R A 974,000 930,000 (##T A AR Gt 3 FE4 4 AHL
26 |FHOKVESHRR|  H25.7.8|MTE2 — 16 5 HRE KL R T 11,970,000 9,500,000 | (R AT HH 9 (fg’%%%%%
27 VISEE H25.7. 19| & 1L X BB 55 T 4,070,000 4,000,000 |~ B E )5 5 HEES SN
28 TR H25.7. 19[4 2 A KB O 56 i R i i 255 257 3,162,000 2,400,000 | 225851 B E 3 5 fad pt g AL
29 |FHOKEHIRE]  H25.7.19|Z R RIS S s T3 2,969,000 2,240,000 [Tt T30 15 T 5 fad e AL
30 |EH OISR H25.7. 19| Kim 7B 45 7 M N & B i L T3 1,364,000 1,200,000 [#ifi 78 LA HR 5 R4 BEE AL
31 |EBLSKVIGHRR]  H25.7.19| -5 ot N EE B (i T 1,742,000 1,250,000 [#fi 78 - AHR 5 EES S INI]
32 | EHOKVEEAHRR|  H25.7. 19| 1Lk LR S0 /A K B/ R B R T 4,250,000 4,240,000 = H LHIE 6 RS e N
33 |ELOKVESHIR|  H25.7. 19 REFmLEREHm R E E B ERT 3,000,000 2,700,000 Fn= P02 MR 5 fad e AL
34 |EBL VI HRR]  H25.7. 19|BILAT e T 82 D2 1,836,000 370,000 iP5 A FE RX (bR 4 EES S INI]
35 FHS R H25.7.31 [E e 7 — L s T 65,300,000 58,420,000 [ /& Yt 7% T3 10 A e AL
36 AR H25.7.31|BA S i #5 2 il A\ = 3 1,180,000 1,080,000 | (i H 14 4 EES T YN
37 KIEFR H25.8.27 [HE T HhN &A% ST 7.5 2,290,000 2,250,000 | (BB A LEERT 4 EES T YN
38 |EHL KV HRR|  H25.8.27 [ L =i A N &R ERE T H 3,900,000 2,930,000 | () K 75 Bl 34 6 HEES SN
39 |EH SRR H25.8.27 | P 5 78 I Hh P TR T 3,700,000 2,520,000 | (FR AT HH 6 RS e N
40 | PEEBLLE H25.8.27| &2 ko 2 — AL — Al 37 T 2,480,000 2,250,000|#R¥~h FELE 3 EES SN
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41 BT S H25.8.27 [BEAE PR e 5 Rk i T3 59,000,000 48,000,000 |3 AL 8 RS TN
42 VISEE H25.9.26 |4 1Lt P A o 3 37 1 3,050,000 3,050,000 |(R) & M a2k L3 4 HEES SN
43 | EH 3K EHFR|  H25.9.26 BT &iE TH D3 1,400,000 285,000 [{F A FE 7% (bR 3 R4 BEE AL
44 | EHS3KYEHRR]  H25.9.26|/MZ PN B B LIRS R I R B e 5,100,000 4,900,000 | 75 2 I E% 5 HER 5 R4 BEE AL
45 [FBHOKOEAHR]  H25.9.26 M bhIELiE B B THIChE B S R & B B it 2,770,000 2,700,000 75 20 3% F R 5 R4 BEE AL
46 |EH SRR 125.9.26| PR 254 E I B IRIE E 52T 1,500,000 1,450,000 | 78 X0 &% 5 5 FR4L BEE AL
47 |EHSKVEfHRR|  H25.9.26(0TIE 1 — 21 SRRl ERE T 5 7,000,000 4,670,000 | i3 T Yelimss = & 7 6 fad e AL
48 | PEFEBDGE H25.9.26| K@ T~~~y 7 il L5 2,150,000 2,100,000 (iR 5 RS e N
49 | EMBGE H25.9.26 {8 BT B Ry N — 2o AT WE RS 4,020,000 3,882,000 [(RJIECC B 2EAHT 6 HEES SN
50 | AEEMBGR H25.9.26|M B2t A7 ME SR 11,520,000 10,728,000 [NTTZ 71> 2ps s | 6 EES T YN
51 | WEMEGR | H25.9.26|/— v A 2,230,000 1,589,000[fhif L7717 5| fABEAL
52 | fdEEE LR H25.9.26 |ttt 3l 5 7> — MR A 5 ERE 1,200,000 1,090,000 |nstassiscss o bo— w855 | 3 RS INID
53 | PEEBDLIE H25.11.7 [ MRl s ik i T 8,700,000 7,200,000 i ¥ AWM 6 EES S INI]
54 | PEEBDLIE H25.11.7 [ K4 i X A K 5 fi T3 5,840,000 5,460,000 i ¥ A 6 EES S INI]
55 |EHS<VEAERR|  H25.11.7| K i HupN B8 5 Bl T2 4,500,000 2,580,000 | (R AT HH 6 RS T N
56 KIEFR H25.11.7|2EABIRZ D2 T % 5,240,000 3,230,000 | (R AATHHE 6 RS TN
57 KIEFR H25.11.7 [ bt PN 5 50T T 9,900,000 9,750,000 |(A) & FH %A L3 6 EES T YN
58 | AEEMBGR H25.11.7 [BRAlRE 2 F b L AR s T3 2,400,000 2,400,000 (>~ & L4 5 EES T YN
59 f A Ak H25.11. 7 |[BEnT s Bt & X B~ v o AT MRS R B7E 4,617,000 4,500,000|fR 7 A =2 H L4k 5 a4 B AL
60 VISEE H25.12. 10| 8 LARTE G A A i s Lo 2,100,000 2,100,000|(#R~ %" 4 EES SN
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61 KIEFR H25.12. 10 [ LN #4558 5 T3 1,190,000 1,150,000 | Fnasfr 13 4 EES T YN
62 |EH SRR H25.12.10(BAL4T &kiE T2 D3 1,870,000 1,200,000 {4 A FE 3% (bR 3 EES S INI]
63 |FHIKVESHRR| H25.12.10|MT3E 1 — 12 5-FREHEEE T35 10,000,000 7,890,000 | (BR7AE FH 1%k 6 EES T YN
64 |EHOVE(HRR| H25.12.10(RTiE2 — 27 S HReh ks T 5 5,200,000 3,840,000 i T Yelrss 5 7 5 fad e AL
65 |EH IV HFR| H25.12.10({HE3— 311 S-Hul B L T 4,250,000 3,700,000 i ¥ A 4 EES S INI]
66 |EHSVESHRR| H25.12.10(01E FEFEE 1EER ERKBETH AN 5 EES T YN
67 | MEEEFEALER | H25.12.10|8Emr 7ot F o CRBRE RN G = — A AR B AN 3 fad e AL
68 |EHLIKVE AR H25.12.26 | bR HEA ML F(R#E TF 5,540,000 4,450,000 Ffi v A 6 R4 BEE AL
69 |EHSVESHRR| H25.12.26 (01 FEFEE1EFR EHKBETH AN 5 EES T YN
70 | PEFEBDLR H26.1.20 | Pt FH 5 78 I Hh PN (7 g A i 6 RS e N
71 KIEFR H26.1.20( EEF iy & fRok B T3 1,510,000 1,450,000 | i A L3EpT 4 EES T YN
72 [EH 0KV IR H26.1.20|0T% EEE1EERE ERKBRETH AN 4 fadpt g AL
73 | EHOKVEESIE|  H26.1.20{V 2O DR hA LB T 7,420,000 7,000,000 (= H L5 6 RS e N
74 FHS R H26.1.20 [ #AE 2 A8E = 7 7 AE T34 10,500,000 6,600,000 | HERE R 0| BEH 307 6 HEES SN
75 LINEE S H26.1.20 |[{E REEARIE R T — 23 AT WSS A5 {5 215 4,227,000 4,176,000 [((RJECC & ZEATR 6 RS T N
76 | AR EGE H26.1.20|7 L —T7D =7 L AT LA S BT 5,981,000 5,850,000| H 373 v £ 2L 6 R4 e AL
77 BT S H26.1.29 | B A/ Vs Ze Rk i AR i 3 s 2 i 4,700,000 2,000,000 (s ket 6 RS TN
78 | PEFEBDLIR H26. 1.29 | P57 FH Hh K Bk /K 6 28 i T % A i 4 RS TN
79 TR H26.3.25 | H [/ N7 22 ai i fi % 1 T 5% 35,300,000 26,250,000 | TR R) | 1B T | 7 HEES SN




